[NPUBJ/INKEHHDIE
3SHAYEHUA.
OI{PyFIIEHME HYUCE.

CaMop,ypOBa CBeT/niaHa AneKceeBHa
Yuntenb MaTeMaTUKH

MBOY COLL Ne23 ct.Kanyxckas,
KpacHogapcKkum Kpam




Apby3: 7,150 kr. - 7 Kr.
Bpemsa: 134 58MUH - 14y (24)
10cM < 10cM 3MM < 11cMm
a<x=<»
a- npuUOAMMKEHHOE 3HaYeHME X C HEAOCTaTKOM

b - npnonKEHHOE 3Ha4YeHUE X C U3ObITKOM



6,78; 5,41; 3,785; 2,86; 4,29; 3,171; 4,0289;
3,1587; 4,51; 3,76; 4,738; 4,15; 5,64; 3,029

3,29 <x<4,5

X = 3,785; 4,29; 4,0289; 3,76; 4,15



3,41; 96, 89; 137,4
3<3,41<4
96 < 96,89 < 97
137 <137,4 <138




Ecom - 5,6,7,8,9, TO 1 Ha 1.
Ecam - 0,1,2,3,4, TO HE U3MEHSAEM.

[IpnMepbl:
1) 15,642~ 15,6; 18,657 =18,/

2) 0,0726 =0,07; 10,8965 =10,90
3) 144,54 =140; 215,34 =220; 163,12 =160



1) 26,387 = 26,4




1) 26,387 = 26,4  ga




1) 26,387 = 26,4  ga
2) 0,9071 = 0,92




1) 26,387 = 26,4  pna
2) 0,9071=0,92 HeT 0,91




1) 26,387 = 26,4  ga
2) 0,9071 =0,92 wHer 0,91
3) 4,901 = 4,90




1) 26,387 = 26,4  ga
2) 0,9071 =0,92 wHer 0,91
3) 4,901 = 4,90 na




1) 26,387 = 26,4  pa
2) 0,9071 =0,92 HeT 0,91
3) 4,901 =490  paa

4) 3,64287 = 3,642




1) 26,387 = 26,4 pa
2) 0,9071=0,92 Her 0,91
3) 4,901 =490  ga

4) 3,64287 = 3,642 HeT 3,643




26,387 = 26,4 fa
0,9071 = 0,92  HeTt
4,901 = 4,90 Ja
3,64287 = 3,642 HeTt
0,779 = 1

0,91

3,643




26,387 = 26,4 fa
0,9071 = 0,92  HeTt
4,901 = 4,90 Ja
3,64287 = 3,642 HeTt
0,779 = 1_ J1a

0,91

3,643




26,387 = 26,4 J1a

0,9071 = 0,92 HeT
4,901 = 4,90 J1a

3,64287 = 3,642 Hert

0,779 = 1_ J1a
38,24 = 30

0,91

3,643



26,387 = 26,4 J1a
0,9071 = 0,92 HeT
4,901 = 4,90 Aa
3,64287 = 3,642 Hert
0,779 = 1_ /1a
38,24 = 30 HeT

0,91

3,643

40



1) 8,78 - x = 11,6764
OTBeT: 2,9

2) x-2,68 =8,368
OTBeTt: 11,0




Kakoe u3 umncen 6,81; 7,21; 6,7998; 7,183
onmxKe K 77

OTBeT: 7,183




Pe3synbtat OKpYramTb A0 COTbIX

(99,121 + 36,3697) - (852,9013 - 809,3452)=




